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CHILD DEVELOPMENT AND PEDAGOGY
T -fawma vg fyraqor faferat
¢are 30 questions
All questions

Ther - ~
In all in this section.
arc compulsory.

W AVS W ge1 30 yue ¥
T 0 sifan) 3

1 m-,k-nr.dmgﬂt”i {*“JL‘IN Bandura, lour conditions are nccessary in obscrvational
lcarning. 1hc right scquence of Lthese conditions is |
(A) M”m’ﬂrti”” — Altention — Retention — Reproduction
(B) Attention — Motivation — Retention — Reproduction
C) Attention — Retention — Reproduction — Motivation
(D) | Attunliuna;— Retention —— Motivation — Reproduction
- 3 . B i ‘ 3 2
o o T S el s §)

& IR — 3{?'*“:‘ — YT — 8ae
(B)  HLHUT — U0 RO — J98cRH
M) HAT — UROT — (BT — SRR
(D) AU — YR — @F{TROT & gd
.4 According to Sigmund Freud, which mr.dhn-:l IS most appropriate for identifying

the characteristics of unconscious mind ?
(A)  Case study | (B) Dream analysis
(C)  Socitometry technique (D) Interview .
[qUe e & SER 3T WA ol faisarsn @l s & &l wetfus 3ugw fafy
HH-H & 2 -
(A Safhen- 3tergA JB) T favers
(€)  gursifafa aeale (D) HIThR

3. A.D.H.D. mcans
(A)  children with speaking difficulty
(B)  children with hearing deficiency
(C)  children with disorder of attention
(D) children with visual impairment
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(A afas w#faqrd e deTeh (B)  AEvT ZdeAd A1l drerdh

AC) 1 la&R ame) arem (D) aftedlar el arered
4. A Lest designed to reveal a person’s strength or weakness in onc:or MOrc aregg,

called |
(A)  Remedial test (B) Diagnostic test

(C)  Achicvement test (D) Formative test

i:g”;:ﬁiﬁﬂ‘”ﬁ f’;ﬁ_fﬁ; ?;T sifuch atl 9 3w} fagmarsi A FEAT 4,
) T T —B)  freErEa e

(C)  3ycfy alefor (D) TeTTeras qiteqon

S. By which constitutional amendme

ntt 'R 1 el ; e ¢ . '
Constitution of India 2 he 'Right to Education' was added in

(A)  86th Amendment (B) 74th A d
mendment

(C)  89th Amendment (D) 91st Amend
cndment

WREAI AEH J F9-3 GeiT g ot w1 stfusrry wfeafe fear
4A) 864 @*ﬁ (B) © 7441 Geme
(C) 89 dl 4I1my+ (D)
6. What is thce | .
Right to Education Act, 2009 ?

(A) 30 - (B) 56

€) 45 (D) 70

Rl % sfaehr sifuf 1 ‘ [ U}

s Hﬁqﬂm,zoogﬁﬁTw&?fﬁQH%manﬁmmqmaﬁw
(A) 30 (B) 56
K) 45 (D) 70

Which kind of rescarch is done by the principal of school to identify and remove
the causes of various emotional problems of the students ?

(A)  Action Research (B)  Qualitative Rescarch

(C) Historical Research (D)  Descriptive Rescarch

w2 1y -
|

i
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) T HTHIT (B) TR SR
©) dfqeifaer Y (D) E‘“"'W‘W. e i
] which of the following thecorics 1s related to lcarning by conscquences ?

(A) Opcrant conditioning (B) Insight learning .

(C) Classical conditioning (D) Cognitivc learning
ﬁmﬁf@aﬁ@ﬁq-wfa@mqﬁmﬁmaﬂ@ﬁﬁwﬁﬁ% ?

) TR e C FAgie AGTH <
) ITEE I (D) UHES W@ . .

)i When we usc our current 'schema’ to interpret the external world, 1t 1s called

(A) Assimilation (B) Association
(C) Adaptation | (D) Equilibrium |
@ FH I T ST AT STl ST, % [eisul e o €, o 39 el STl g .
(A)  STCTATHRIOT (B TEY |
© St _ (D) TIoH

10. Which of the following is not a characteristic of projective test ?

(A)  Ambiguous stimulus (B) =Kupeeders o respond

(C)  Subjective perception (D) Objective interpretation

FEEE 7 W A e e # e T8y & ?
B A

(C) TATHERF Wcgeqo]

(B)  ITIHAT &l FEcarel

~ (D) GRS =

11. ~ Child centred pedagogy means

(A)  asking the children 1o follow and imitate the tecacher
(B) letting the children be totally free
(C)

giving moral education (o the children
(D) | gwm§ Importance 1o children's volices and their acti e :
{.—' 7 Foreor Fafa a1 e g aclive participation

38982 L A ' [es8)
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Raven Progressive Matrices are used to measure

(A Pcréonality (B) Learning
(C) Intelligence (D)  Creativity
Fa e Az & e % T o ford fepan S €
wy e B
| (C) g (D) {jﬂdlrl-ld':di

1 3. f\ucnrdinglm Vygotsky, children learn
(A) by imitation
(B) by interacting with ad ults and peers
(C) when 1rcinfor{:t:munt 1S ul’ﬁ:rﬁd
(D) by maturation
reTieh! & AR SIeTeh qrad @

a)  HTH d
) ggEhl 3R THEAER & @Y W fhar 9
) yeIeT G [ ial &

(D) URuEd & 9

14 Which psychologist first created the intelligence test 2

(A) Wechsler (B) Binet

-(CJ Spcarman | (D) Cattell
e TS & gRT QI gfg WRIeT T EI0T fRAr a2
A T

(D) e

cacher maké for the upliftment of Gifted children ?

(A) dFIR
(C) . EETHA
15. What effort should a t

(A)  Slow to teach (B)  Special classes and motivation
O F

‘(C] Punishing them 3 ﬁ
Wﬁﬁmuﬁﬂmﬁfdm#ﬁﬁwﬁﬁq_mmmﬁ o 3
A)  TgH i HH e, o) e e

_ v

I-A
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16. If the actual age of the child is 13 years and mental age is- 14 years, then what
will be the Intclligcnce Quotient ?

(A) 112:50 (B) 107-69
(C) 110-25 (D) 100-50
Al a1 Hl ARAGF Y 13 9N & HR AR G 14 94 @ A gfgerrs w0

gt 2

A) 11250 ~_B)  '107:69

(C) 110-25 (D)  100-50

7. The ‘Classical conditioning theory' of learning was propounded by

(A) Skinner (B) Pavlov

(C)  Thorndike (D) Kohlberg

a1 ‘Seliigser Satosn THgT uiqarted femar a7
A) RS B) U |

(C] 2“'%5]5'-:15 T}[-_ " e (D) q-;ﬁﬁqﬁ :‘.t

18. Causc of juvenile delinquency is

(A) parental conflict

B)  sympathetic behaviour of familjr'm-émbers

C)  working in family with mutual consent

(D)  wealthy family

STeA- 3TULTY =T SH0T g

_AA)  TII-T9AT H ST @A
(B) URER & H& s HeHHdqT oqlqau
(C) ofcar # s @ wentd § 19 e
(D) TS TRER

19. Which of the following has been ignored in children's Free and Comsil
* : . SOry
Education Rights Act, 2009 ? p ry

(A) Facilitate training of teachers

(B] Ensuring entry of roaming boys

(C] Defining Academic calender

(D) Arrangement of education after 14 years

38082 [NV
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qlmml%%@aﬁaﬁ%wm FtafaH, 2[}09‘3[ﬁﬁ‘ﬁ{ﬂ%H

fe&ar gy & 2 |

(A) 3T T yiveor gfergr we Tl

B) 997 Srorepl & wavT &I gffead &l

(C)  Uheiw werer 1 fHulfg e

4P) - 14 98 & gyere fyrern sxeeE

Ka

=" Which of the following steps makes research, action research ?

(A) Construction of sub-concepts

(B) Programme implementation and evaluation

(C) Generalization | | | o
(D)  Review of Literature

e dg e R G T g
T HIT-97 T107 $1 TshaTersh 3@y ST &

A) 3 ' ] | T Ts ‘ |
) qohvwraﬁ EAREE: 3 (By W T Tehdl<gdq Ud iﬂl*?
(C) IM=ferm (D) HT%EI T AXIEIOT -
21.  The aim of addi
Ing Art Education in N.C F. -2005 1s
(A)  to Improve logical reasoning
(B) to devclﬂp spienfiﬁc outlook
(C)  to appreciate cultural heritage
(D) to visit historical sights‘
TAH1.0%. -2005 F e e w5t et 31 32vq &
A £ . o
- (A) FFW o ifiglg - (B) o gfemiT w1 ey ‘
IC)  HIFIdH foRmEd =) gea D) Ufdefas SR @ O gHuT
22. Development is never ending process, this idea is aséﬂciatcd with
(A)  Principle of continuity B)  Principle of 'interrélation
(C) Principle of interaction D) Principle of 1ntegrat10n
ferehld &l 9 TA g arelt WiehdT €, I foar gafyye ¢
JA)  FERar & fasra | (B) ¥ W= & fagr g

C IgafFmEfagd (D) TEEWF fogr g

23.  Which of the following is not a component of intelligence ?
(B) Vocational choices

(A) Logical thinking
(D)  Learning from experienceg

(C) Mcmory

3go82 [N
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Frferfiae I @ @101l T HED T ?
A)  difeped T ) e st
©) e D) YAl & dhae .

24. Which of the

(A) Thinking
(C) Throwing a ball (D) Dlaying

meaﬁgﬁﬁﬁwaﬁﬁﬁmwlwwmqﬁ% )

following is not a psycho-motor activity of a child ?

(B) Writing

A SIBE| B)  fora
() g hehHT (D)  Werl
25. Who gave 16 P.F. questionnaire to assess personality ?
(A) Gordon Allport (B) Sheldon
(C) R.B. Cattell (D) Sprenger
fepeer ! AT & ol Giele OT.U%, Wyl fha & 2
(A) M- AU B) Ieed
_AC) HR &I, e D) WK

26. Which of the following is a characteristic of a gifted learner ?

-

(A) He can feel understimulated and bored if the class activities are not
challenging enough
B) He gets aggressive and frustrated

"%
C) He engages in ritualistic behaviour like hand {lapping and rocking etc.

D) He is highly temperamental

it o @ a-ch g s el ¥ 2
(A} Afe et st nfafafaar siye gaﬁ?ﬁqﬂ’rﬂﬁﬁﬁ% ﬁ?aﬁ’mﬂﬁﬁaﬁﬂam
& 3R e AT € |

(B) @ S R HfSd & I & .
() @& T HEER Il ¢ STH BT Uy, feerr anfy

(D) FE Sgd & AT @l €

27 Inclusion of children with special needs

(A) 1s an unrealistic goal
(B) will incrcase the burden on the schnols
(C) requires a changc inlatlitudc, content and approach to learning

(D) 18 detrimental to children without disabilities

666 _ P.T.O.
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E 10 ‘
I s{raveyehe aret aredt @) wiEe BT
(A) U sardfgs deg e
(B) faereal o wR &g /M seq7 T & V7

(©) Toreor & wfa gfeeepivr, fawg-a&] R |
D) fend sqeqar =7 @), 39 a<dl & o7 gifeheh &

‘}Sf‘i Problem solving is not

(A) goal directed

(B) a skill that can be learned and practised
(C) bascd on the understanding and use of scqucntial steps

(D) about musical ability

QO GO A&l @

(A) LG

(B) TH FIvel ¢ S diar T g & AR et 3y oAl ST Hehdl &
(C) THH AR ek =0 & AT W AN 8

_p) g Hw—%ﬁaﬁm%aﬁﬁ

29. Thematic Apperception Test (TAT)of rmzaﬂuriﬁg personality 1s a

(A) Subjeptivc technique (B) objective technique
(C)  projective technique . (D) experimental technique
AT 3ary qeToT =afehed &t OO & |
(A) TS fafy @ B THs fafy g
_[(C)  weddy fafy @ ' (D) W& fafy &

30.  Which of the following leads to creativity ?

(A)  Emotional thinking (B)  Convergent thinking

(C)  Divergent thinking (D)  Egoistic thinking

FPEACEA d W HI-81 G B3R o S ?
(A) g faaq B) AR} famam
4€)  ITERT fem D) AR BEs
3sos2 [T ~ [ess

1
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qug - 11
T - 1
fe==

39 19U 1 el 30 UeH & |
Ut wo 3fEg © o

L

g, frAfefad § & v fereaor o 3?:1’?11%1%:
A) Wi g bl IR S (B)  shAdgdl &M
(C) terfery ﬂTﬂTaﬁ'ldﬂ 31T c%{ld “ D) ATh{UT §Hd HTd HIA]
30, ‘HMEHHT arRv fafy’ & fagia o affferd & |

AA) T ST B) TR 1 Egia .
- (© 9 fa & e (D) e Tl T TEFAT
33. = B § SH-91 GER e’ 98 T E 2
A A <Y ST B (B) 37RO AT
(C) THId areA D) T e '

34. U 3o godich i [Nl iti'_% -
@A) SEar O B AR

AC) - HTcHS L~ kil oqméhd_[

35. SRS U¥H H UHR &

(A) AT 99 - ~ (B) ICFGELIRE LG
AC) T”WH W:f - | (D) ATEATHE WA
6. TrAfetaa # @ wi-a1 femmel wgH § vee fere feaH & dd H e 2
W EeE T @ feefm
e) - Wi iyt (D). HIRET HUZE <

37 H 9T I A &

(A) ISR AT & W HeAdr e |

4B) @y & ugid [awfad eidl 8 |
(C) U @l G T HaGH &Il & |

(D) Uk gl Sl & 9§ AR AT |

asos2  |WIENINNIK * 666 EX ~ proO
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38. Weifed &S & -
() HeA g B 5 ad
(C) T g (D) iHeT gl
39, Wowodo T AT T A ARG g el i i iy
(A) forsal ! eATaehdl (B) 3Ueh{Vl ! SATehd]
(C) TR & AYeh 4p) Al ol AT
40. ad =) Tafyea frenm &1 79 forg @R R A1 Aifel 2
) TS wR B) Id UEHE &R
(C) WA TN (D) Ied HrEAmH TR
41, ‘To T FTA T i & AT ar T s el VIR [ SR Hife H & 2
(A) HAAH . (B) HrEETdh 43l
() Toram- ENE | 4D) IO fergreroT |
82 Tﬁfﬁf s A % SyER F ‘o) uEntt @ 1 rEifed I8 & T 1 U foehed €
A) HRE U8 B) fsdl _ | -
€] T oD) y@wq-m

43, Ty=feiEd & @ H9-97 U g 8 2 :
A) TS A H T 3299 SR U o g Bl § |
(B) HIT c{t#ﬂﬂﬁwaﬁﬂ’f?ﬂ 3Ry, AT 3G G- aoqqlq:{trﬁgfgm
e
(©) TH T foH kmwwﬁaﬂﬂmmw S @, 3
HYETH Fed & |
D) T & GEF THE Q@ o I § |
44. "TH W AT W ASH AL W Rhet 1 @ S5 41 | S @) 39 I
@Z@Zﬂrﬁl’%mq‘(%swsrwdsﬁ; ST Tl § e R v & et e

F9 g
(A) r‘j‘*ﬁl, 4K, W&ﬁ ' (B q@- % -
©) 78, IR, &g (D) FW, fo=q, T&

I A AR T HTRR R} I sy ) AT € 1
WWE@&HM’WWM«H Gel YI9E ©Y FaTeu

A
(C; Z:n e, fadel B) fagen, 2, Qv
W, 2 (D) facel, faeeh v
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fratciR@d RIier & YR YT vy W@ 46 9 50 d& & 3L AlfAT
iy Ja WAl @ geflenr ®, sd@l @ e g 9 Ag 3 gfaeRrd @ oo
QY A 391 dfee o1 Ak glar @ |WFE@I%WJW%HG1:&WFLS | U
¥ AT fhdl 3™ HAe YT HAAER HT Wl 8 | AN 59 § I8 A4 FHaell +
| yfd 331 30 W ¢ | W A1 I 39l vt @ T AR hHeA AHdER dF @il & | g
| oz w sriae § B At 30 FO 3H #W A A1 % A H YA HC A |
| 46. Frfafad § @ ‘S vt &1 yaigarl ¢

(A) (B) 3
(C) TNTe ~(D) . H&el
47. ‘FIER’ T § HH-91 30T 8 ?
A) | B W
(C) 3t - - (D) A
48. THHAGRET O | Wgaras 937 € .
(A) 3Tl (B) 37X
Jro y (D) T®
49. THfciiEd # Q@ fohd =g & wog orm geile 2
A) = 8y - et
C) ™ . D) IS
50. ‘HANGHR' &% 1 GATE-TIUE &M S
A) T 9 fomr B) TH 3R fTER.
) TEEHfEER D) 9 % gN g

Srfefad TeieT & UR W YvT G@ 51 ¥ 55 dF & Wl & 36X T
& Ty et T, W gust #AR feu gEs @t @ € | qhe T SR % §
fF 297 ! G T F YT Y FIR IRHT FAT e 31 aF @l dr@r | S
meed 31T o9 &9 SFd & Tél | &9 31 ot SIRmders € | &9 B | & &M g
SferehT IUFAT A1 A@d € | T8 3o HAghd TS Skt 3Ter H O 931 & | 4§
TOd T el eid al 3 0 FEl 9¢ Hehdl AR WRSY GO H 4T el & bl |-
1. ' @ e a1’ AT H hiH-9T FIAT § 2

(A) WHET ST (B) HHA sfersad

| WC) U A (D) Y FAHH

| | _
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& STL-
oo @ @A v gfeert’ € 2
(A) Tl (B) Gﬁiﬁﬁﬂ |
(C) ™3l «b)
s3. Taiv & SR R’ v EeME
A)  fod (B) ferenied )
~C) YR (D) T | :
54, ‘WG YeE 1 SgaH 3 TN
A)  FAE 1B ”41%‘“1{ 5
) wAga (D) ‘ﬁ?”
55. ‘gfva’ v 1 Y ® -
A S - o
C) TIIh o), A I
o T ¥ e R HEdE 2 a A
A) T ' Gl
B e SRARETIEES ‘
' ‘aﬁ-‘q@ﬁ afq &l [s ekl 1 i effush’ SR ohi clichiith chH-aéT -
T 4 '3 N ; - B, ; = =5 'FE*:
JA) U 3ER 9l IR : (B) EHTHT Siisdcaliol | Y

W Iy 5= N he
() Hdl gHA Bl Fhe i &l e __ |

58. ‘WW‘WW@W%
(A) FHiSAAIIH W il

B) AR EA
(C) ﬁ‘mdm'{:[%ﬂ:ﬂ
) TUTE wwmmﬁ@ﬁ@m GREAR |
59. ‘9 H{ 9T T, WHWWW% " T mlqﬁﬁﬂ%’aﬁﬂmm

& 2 7
#)  THY T (B) Hcl dis<
() @gE A (ERIEEIEEIEIEE
60. ‘YT T Weell & AY & HYR G 3 AR HT YRR © '
(A)  AHETdE g AB)  fouFaTes. g
(C)  TRHEgH (D) Yhdi¥gen
38982 RN 0 666 5
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STL-2 1D
SECTION - II
| LANGUAGE - I
ENGLISH
There arc 30 questions in all in this section. h
All questions are compulsory.
31 Truc or Falsc answer typc question is a type i, (- gquestion. |
(A) Issay type | (B) Objective type
(C) Descriptive type (D) Short answer typc
32. Unit test is an expression of ............ evaluation.
(A) normative (B) effective
(C) formative - (D) conali?c
33. Evaluation is a process of . |
(A) Ascertaining the quality, valuce of ﬂﬁtcames
(B) ljctermining the extent of the achicvement of objectives
() Cnmpaﬁng the loutcomes of instructions
(D) All of these .
34. Which of the following is a d1sadvdntage nf Situational Approach ?
(A) It creates interest in teaghing A1~ _ h
(B) Itis action basced approach | - %
(C) Text-books cannot be taught by this method | '
(D) Material aids arc used in this approach
35. The text-books help the teachers in which of the fc}llawmg ways ?
(A) It makes the t{,a-;hmg of Enghsh sybtcmdtlc
(B) It checks the teacher from gomg dstray
(C) It facilitates sclf-learning and self-study
(D) All of these
< In which of the follm#i_ng Sﬂﬁlcnf;eé is ‘have’ used as main verb ?
(A) _I have a shower every hm_rn’ing |
| (B) | have lost the faith now -
(C)  Thave never been to Delhi before I
(D) 1 have admitted my fault
s W . [eee '
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{ 37. In which of, the following methods of teaching English language® inductive ang
b Deductive techniques’ of l,pachmg ate used ?¥ ‘”

v

B o (A)  Grammar cum Translation method &
- (B) Direct method ik o
|| L3 (C) Substitution method - o ’

(D) Bilingual method ., , :
38.  Which commission in 1948 accepted the importance of English la,nguagc in our

e curriculum ? _ | :
' (A) Dr. Radhakrishnan Commission | 2
(B) The Secondary Education Commission S !
(C) Central Advisory Board of Education 2 e

(D) Kothari Education Commlssmn

39. Who of the [ollowing pruposed Listening- Speakmg- Wntmg—Readmg order of
teaching for learning English as foreign language ?

(A) E. C. Kittson & (B) Robert Palﬂ
(C) J.A.Bright (D) P.Gurrey |
40. Which of the following approaches aims at teaching Engllsh by estabhshmg
thorough drill and repetition of about 275 graded structures ? -
(A) Structural Approach _ (B) Situational Approach
(C) Bilingual Approach ' (D) 'Communicative Approach

41. Dr. West’s ‘New Method’ of teaclm; %glg emerged to overcome the hm:tatlons

.....

of which of the followin g methods P! =

(A) Grammar cum Translation method _ -

(B) Substitution method ' . NS
(C) Direct method | EaE |
(D) Situational method

42. In which of the follnwmg types of subslltutmn the variables’ cannot be
interchanged ?

(A) Simple substitution (B) Cﬁmpnund substitution
(C) Complex substitution (D) Grammatical substitution
43. Which of the following is an advantage of Communicative Approach ?
(A) It teaches ways of expression

(B) It ignores grammar and structures of our languages
(C) Its practical utility is yet to be awaited
(D) It is not properly and scientifically developed as yet

44 Which of the- following is related to the mental development of the learner ?
(A) Exposition (B) Imitation
(C) Characterization

" | 'nm lﬂl!lllﬂﬂwl ,I

(D) Comprehension
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45 Which of the following is an audio-visual teaching aid 7

(A) Gramophone (B) Flannel-board
(C) Television (D) Radio

46 Which of the following prefixes can be used to form thc opposite of the word

legal” ?
(A) 1l (B) dis-
(C) un- (D) im-
47. Correct onc word for “’I‘hﬁt which never fails” 1s
(A)  unfailable (B) infailable
(C) unfallible . (D) infallible
48. Which of the following has a correct.structure of a question ?
(A)  Docs Ann has a car ? (B) Does Ann have a car ?
(C) Have Ann a car ? ' - (D) Did Ann has a car ?

49. Which of the following is correct ?

(A) T hope he'll succeed at his work. ~ (B) I hope hell succeed on his work

(C) 1 hope he'll succeed in his work (D) I hope he’ll succeed for his work
50. Which of the following is ERrect ? |
A) The old car moved much more faster than the new car -
B) The old car moved more fastemthan=theynew car

C) The old car moved much faster than thé new car

D). The old car moved much more fast than the new car
Read the passage and answer the questions that follow :

Prose Passage ( Q. Nos. 51-55 ) :

Too much importance must .not be attached to the wrong acts done by children,
particularly if they happen to be of minor nature. Many boys and girls at a young age
arc likely to be in the habit of stcaling,-neglecting their studics, slipping out of their
classcs or using bad languagc. In nearly every case, the root cause of the trouble 1s the
fact that proper care of the child 1s not taken in the house or sufficient interest 1s not
shown to him. But if the parents were wise, they would correct the faults of therr
children by paying more attention o them. Whatever the case, one thing should never
be done. Bad things in the children should never be repressed, that is, they should not
be compelled to change for the better under fear of the rod. Physical punishment does

not improv~ them. It only makes them worse than belore.

51. Which of the following phrascs has a determiner in it ?

(A) Causc of the trouble | (B) Change for the better
(C) Worsc than before (D) Many boys and oirls
o A0 e P.T.O.
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52. ... the root cause of the trouble is the &

~usaed as

(A) | b B) helping verb
main ver

. D) prcposilimn
(C) conjunction |

' | ; . W e Of
53.  Which of the following has the three degree

form ?

| much, most
(A)  Much, more, most (B) Many,

(C) Bad, badder, baddest . (D) Like, likelier, 11].{{311‘{351: o e
S4. ‘.. in the habit of stealing, ncglecting their studics, slipping out o eir
classes ... ." Underlined wurdé in this part of sentence arc uscd as
(A) main verbs (B) conjunction |
(C) gerunds (D) adjectives
55. Which of the following has a possessive pronoun in it ?
(A) Bad things in the children (B) Faults of their children
(C) They would correct the faults (D) Whatever the case
56. Which of the fﬂlluwing structures of a question is correct ? |
(A)  Why didn’t you told me that.? —(B)Why you didn’t tell me that ?
(C) Why didn’t you that tell me ? (D) Why didn’t you tcll me that _?
S7. Which of the following structures"of @qfestion is ¢orrect ?
(A) Will be they arrested if they refuse to leave ?
(B) Wil they be arrested if they refuse to leave ?
(C) Wil they be arrested if they refused to leave ?
(D)  WIill they be arrested if they will refuse to leave ?
58.

Which of the following passive voice of the given sentence 1s correct ?
‘All his friends laughed at him.’
(A) He was laughed by all his friends
(B) Hc was laughced at by all his friends
(C) He was laugh at by all his friends
(D) He was laughed at all ‘his [riends. |
' 59.  Which of the following words has a diphthong sound ?

(A) Spced - (B) Liquid
(C) Paternal . (D) Out
60. Which of the following words begins with the consonant sound /j/ ?
(A) jcalous | (B) zcal
(C) yecast (D) gist . 1
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

61. ‘An ClEgy’ is
(A)  ajoyful lyric

}B) a4 Poem on death of someone dear

(C) a Sﬂflnm on natﬁre
(D) a marriage song | = . -
.62 .The_speaker / narrator in the Pastoral elegy is |
(A) a musician. o B) a' shephéfd
(C) a painte o :
| P r (D) .a,__sculptor apab cded efep
R R i 1s the rhyme scheme of the English sonnet. | i 43
M abab, cdcd, efef, gg (B} abab, abab, abc, cde
(C) abc, abc, def, def, gg e v—_: :ﬂ ; cde, abc'de, efef - .

_ﬁzl._ The drama that developed from religious rituals -was

&) Classicai drama - (B) Eliéabpthan drama
(C) Medieval drama (D) Melodrama - j
65. /'beri/ is the correct transcription of | ‘
W WY AB) berry
(C) bury g | - (D) beary
66. ‘Exist’is transcribed as I e &
(A). /cgjhist X AT (B /egaest/ e~ i
© jegusy s O igast/ i e Sl
A7. The corrcct_tganscription.of ‘virtuc’ 18 | i
e ‘F*M' (B) ./vai:tfu:[ | '("
C) [vartfu:/ « (D) /watlu/ | !

PIT.O.

=

Scanned by TapScanneﬁIr




STL_2
32
M : ;
68 Remedial classes play an o " f(c;] bright students. "
(A) society - . (D) intelligent ones
JQ‘] disabled ones . e evaluamn
f}@’.‘ An 1mpﬂrtant feature of an adequat s o
t is irresponsible . s e t_s
[C) it enhances learning 2 | 3
(Q. Nos. 70-72):
“The wind lics asleep in the arms of the dawn
Like a child that has cried all night.”
70. The second line is an example of | |
| 4 Simile | | (B) Metaphor
(C) Personification (D) Alliteration
y/ ‘Metaphor’ is defined as
(A) far fetched simile . (B) implied simile
_19]/ covert simile - _ | | (D) explicit simile
T2 -~ ks SR 1S an cxamplc of pcrsamﬁcahon n the abov¢ 111'1'35
_A) Wind - - gB Child S
(€) Night {D) That :
73. h Blank verse is iambic pentameter 4 PSRRRIEs s 1 LR
_A) without rhyme . - 5 2 o A
(B) with rhyme | ‘
(C) with éltcrnatc'rhyme
(D) without altcrnatﬁ: nfhymc T He =
74. ‘O wild west wind, thou brca.th of Autumn s bcmg
The above Ilnc contains e
AA) Pcrsmnifica}idn and alliteration - :* |
(B) Simile and allitcratinnF ¥ | el e = ; 'f_.._ f_f_._'.'::i'-'-f_-'-.-!ff..'f“ﬂ"
(C) Personification and simile &
(D) Mctaphﬂr and personification™ " h_
(g TR e I Was no bc.tu,r than a dead man, I was alive and ‘Waa able t
the shore. ' | e S I‘each
jf( Thuugh | _ B) If ¢ | e AT A 9
(C) Yet - D) Murcovm?( o8
38982 | 1AL | [666 |
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| f Moeasles an mmlectious disease
';. | (A) T {13) 19
! (C)  will (D) have
E | My Inend and his father _ L. meeting us tomorrow
! ' *-’11 _AIC ‘\ (B) 18
| (C) wll (D) have
78 'he isherman cast his net for two whole days but .............. hot get B §e0d lof
(A) cang . (B) might
F (C) could (D) knf];_ly
5 /9. Ravi's uncle guided him how he ...ovvvvrvnrinnnn, . attempt his test.
(A) can X ~B) should
(C) mayy (D) will
80. ‘Flying in the face of means
(A) respect | (B) pray
AC) reward (D) 1insult
81. ‘By fits and starts’ means
(A) | not fit to start. | _;_._j(B_l; _goad omen .
J<) not regular | ,L J[%] {fii?.pecdily |

[ Q. Nos. 82-83 ) : Read the following passage and answer the questions :
‘Waltching television for a long time could lower academic performance. It ‘steals’ away
the reading time. Time management is about self-discipline. Time must be managed

between filled and unfilled time.’

T PR may be an appropriate title for the given extract.
(A) Discipline (B) Self-respect
) Time-management (D) Television

: : | 4
‘His father never starved, but he couldn’t cast any doubt on the story. So he ha

to make an effort to hold his tongue.’
83. The linking devices used in the above extract belong to
(A) concession and contrast ~ (B) opinion and putposs.

(C) condition and adding ideas | AD) contrast and con
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Scannéd by TapScanner



™ 34 g ST,
34, Adjust’ is lranscribed as n"ﬂ‘\'d
/(A) /a}d‘3nst/ i - B hA’t p( (B) /adf ust/
(C)  /3djust/« T (D) /J'dsAst/

3¢ Velar s
/ Velar 1S the sound formed by 9 :

(A)  the front of the tongue and the hard ﬁajﬁte

(C) the

D
= (D) the back of the tongue and the soft palate
- Sounds ¥ A oL T etc.fare
(A)  semi-vowels (B) lateral
ater
J,QI fricatives
g (D) | nasals.

87.

Which of th - . (0 3
e fulluwing I

plays the basic role i ' g m

_ y n{learning a mothe ongue )
(A) Mﬂtivation C—‘ e A -

«B) Naturalness

Habit formation | o
88. d Qg 2 Prrpose

(A): boon
e (B) hardship
00 |
D) ladd ' '
: o . o er N Y
0. The basijc remedial English may cover :
(A)  vocabula ;
. %
(B) o B

reading com prehensioﬁ

(D) none of these

| —

LY j‘. ."'l'* Vst . -
k ,;EE.EI{ S Bl
oy -l e, s

r
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FHIRR HIGEIhvd MRareiv ke gedef F9 gferier: ¥ |
67. "HIgeh:’ T F1 favfe: 2

A gl , B T
© Wt . R
68. ‘TNET 39 v TR U wiasAld — |
(A)  ITE s (B) HHHAG
: © nER (D)  HTHEd
69. ‘TeE:’ 3WRET ® F: WA ? o
A TERr - (B) AW
© I wF: 5 (D) FEME gRa:

STLQ E
M THEAT: — i

s arafact e sl Frferfiaan: ( 67 - 72) 7
T i o o et g o sl |44 T “'W

ARy ey
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75. ST oy VAU o] e ?

(/‘:J E—{F?THJ;UT T (B) GIUTeh 47
76 ;-‘;?,T:afﬁ%{”( a:'{q s s

(A) ‘ﬁ:;j:ti W&t 378w’ AT HIAHN: FET AT JE9Edd 7

(C) SR '(B) 2 ‘
SN (D) S]a7Uq

Uy

T9yaT 5 T e STEIUTIH EF!T-[H FaH ufamy’ 3fd we ML Pes

=y me (D) e
IR B RIET I
(A) ﬁ?ﬂmqﬁm 4mq:wﬁwmmaﬁ3
% (B)  Hif@s gdiemE
) 3T Gere o
T ik (D) feifiae wtieran
iﬁﬁ REEE w §1 99 57 it & |
A) iaa?[: T v uRghy | (B)  <d<T: g3Ed ¥d gRAfT |
(C) ST F3Eay o YR | (D) JagT: El?lﬁﬁq‘ﬂ?rmmﬁ—r |
80. HICTH: T Gefa’ geme THE e ey — 00
(A) d©lceTsh: _3@4» YSId | [B") e gm%qdﬁf B
. _(C) ATl Qe e | (D)  STCTHTE e gaf |
81. '‘gouH: H@#Hﬁlﬁr@ﬁr Erraﬂﬁqamﬁuaﬁ-— e
(A) G Wﬂﬁqﬁr@fﬁ e e Hwﬁ: AGAITSia |
e n W:{ Wlhﬁiﬁ | | " (D)_ g5+ A9 Afufasia |
82. ‘q’ft\rgq q—ﬁ'('iffﬂcq o E R Tom: |
k] R W‘I\r&lﬂ Eﬁﬁ AT — | -
(A) 9T s gy
(€) 7 §a o

. - 7 pro. x

“sos> (NINIMMEH
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(A) AT (B)
o Ry B
84. HTHM WH Wpdues grd forad —
M W45 15) oy . AR 3t —
(A) URH Tqare - (B)
(C) IR ¥t N D) |
FUlfge 1fae Yoo st ﬁm‘f—ﬁa'm (85 - 90 ) Y¥T: GHTAT: —
mﬁéc{nqur{cﬁwwqq | o ‘
wm@wﬁmm@ﬁﬁ
HGTH I ST hyalgegy

o n 2
QIREECTRuC s ST ||

85. AT 39F & W )

A
‘(C)r HE{H = (D)
86.  SXHMT 3T ®: UHg: )
(A) T « adda
(©). = By
87.  ¥Alehs RO v v mtr%rr 5
(A) Tfert ~ (B
(C) - FG=fdeTaH] ; | | (D)
88. '[MeRETH’ T wuEiae e —
(A) HSHW ke ts S | I - (B)
C) TaE & (D)
- 89. ¥R &% seiaR: gt ? | |
| (A)  TararaEar o  (B)
(C) 39HT (D)
9. wwmﬁqmaammaqﬁm%—'
(A) VTTE T e jm
(C) WETHe P (D)
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SECTION - IV / @8 - IV
ub-sections i.e. IV(a) Mathematics and Science and

In this Section, there are 2 S . . |
ectio { 60 Multiple choice Questions

IV(b) Social Studies. Both the sub-sections consist 0
cach. -
The candidate has to choose cither IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions

6V <) v el via) TR U Fa T 1V(b) S S ST

I # ry(a) vt qur faE 9T IV(b) WHIRS AT, fotent 9a- HACATEA
HEA-T A o 3, % @ o) U I7@UE I G & 06 G 60 Al T ITH 3 €

SECTION - IV(a) / @US - IV(a)
MATHEMATICS & SCIENCE / TTTUTd el CEIR

There are 60 questions in all in this section. The candidates who have sclected this
subject must answer all the questions. ’

T EUS H T 60 W &1 F avafiml 3 39 NG &1 9aE 6T € 3% G A HE
HHaEF ¢ | | | '
9 1 The disease caused by virus is
r (A) Typhoid

. (B) alaria
(C) Rabies | [ | *(Da&d & 1

FEH ST T §

V- BAL ) (B)  HANRET
| (C) &= . (D) =538 =
92. Yeast ( Khameer ) is an example of |
~ (A) Bacteria - (B)  Fungi
(C) Virus (D)  Algae
{ & gRe (THR) Th ][RI § _ E
Y (A) STE] T | - AB)  FAE H
(C) Tasm] | (D) ISt
~ /63. Which of the following is a cold habitat plant ?
(A) Hydrilla (B)  Bamboo
- (C) Opuntia (D)  Soldanella

) Erferfad § | SF-91 ¥id & 61 959 & ?
B (A). E : | -dB) | ﬁﬂ
(C) ATTEAT A ) m

. A ek | | . PTO.
L e (RN N
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96.

28982 1M

g_

44
Match the following : o | Salmﬂnclla 1yph1
. Tuberculosis b' Varjcell:’:i zoster |
2. Typhoid ~ Bordetella pertusis
3. Whooping cough ; Mycobacterium tuberculosig
4. Chicken pox '
The correct answer 18 4
1 2 3 ?
(A) d a b
(B) doneFack c ;
(C) d a ¢
D) a ! c d
Frferfaa =1 &t fiyerm Hifve
P mm | | //a, HJVHHﬂlrz.lsq;‘]
2. JHRE < b, aRIge SR
3. P G 2 e EECARES .
4. B HEAM \d. mgqfiéa'ilﬁﬂﬂ Zq\mﬂﬁ;’”i‘qﬂ
& I 2
1 2 3 -+
(A) d— A N b C
(B) d b a
J@' d - a.’J adda i) gl
(D) a b C <=
Which ‘is the largest gland of human Endy ?
(A)  Liver (B)  Pancreas
(C) Adrenal _ (D) Thymus
S YRR Al To9 ot 9 -t & 9
M) TFd (B) W
e Hﬁ’gﬁ (D) gAY
In SLunit system, pascal is the unit of
(AJ pressure - iy (B) | work
(C)  cnergy (D) e
& | power
HATZIG AT WFH H YRehoT fehaeny & & )
A) T |
B B) w1y |
N D) e
Meth - -
. od of hefat transfer_, by which heat emitteq by th
SoNyoetion (B)  cond Y 11€ Sun reaches the Earthi
(C) radiﬂtiﬂn (DJ R UCtl{)n :.
nvec
| : ton and conduction both
666 B 3¢
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3,Hﬂﬁﬂmaﬁ%ﬂfafum1q&ﬁwﬁamgﬂa°fﬂiﬁfgﬂ?ﬁ%?

1 3 A) & _ (B)
o) fafegor (D) GegA 3 =re gl
& 98. An object is plchd between two plane mirrors which are kept at 60° with each
: 3 other. The number of ; images formed will be
) .3 B) 4
C) S (D) 7
QLR 60“%ﬁmwr{gﬁﬂqqu—dﬂﬁ$mkm q{qr@"r% g9 det Hfeifera
H T i ¢ @_
. - ' B) 4
—C) S I 15
99. Loudness of sound is determined by

................. of sound.
(B) frequency

(C) pitch (D)  time period :
A Y derar iy e e g1 MY ! A1l ¢ |

,_ A) - 3 | +B), mﬁ

; (C) TR |

.- 100. When an object is plac-:,d 1N l"mm c::f a concaye mirror at its centre of curvature,
'- the image formed will be d d |

-~ (A) real, inverted and. sr_naller than object

(B) real, inverted and equal to the size of object
(C) virtual, erect and smaller than object

(D) wvirtual, erect and equal to the size of object

Sfe sl o] 1 Tader JUVT & GHET IS ok %ﬁwwﬁm%,?ﬁwuﬁﬁm
| qda<

(A) aTiae, 3ol 3R o 9 N e e :
(B) aRdTae, o1 3R T F ST H W

(©) AT, Eer R g 9 B
) s YT 3R I o HES o SR

101. Which of the following features of mathematics makes it a global subject ?

(A) Language complexity (B) Brevity of language -
(C) Uniformity of language (D)  All of these
: nﬁmﬁfﬂwwﬁaﬁﬁﬁmﬁﬁﬂwﬂ@éﬁaﬁmmﬁ%a
(A, A & Afeetar 0 (B) WM ) Wi
E yr |IST ehl TehET () T Ed

: o 3 ARO:
- wos WM -_ .
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control which of the

n develop skills €

10Z7. Through mathematics teaching, childre
following emotions 7
(A) Luggic (B) gelf-confidence
s€ N A
(C) Thinking power (D) | All of the q A0 3G bl DI
nﬁmﬁw%mﬂﬁqmqﬁﬁﬁﬂﬁﬁaﬁqﬁﬁﬂ : .
forepfad & sTrar & 2 _ ' |
T
) e ofB) T Zﬂ |
" | (C) forgR-3Iih ./ﬂ{) mﬂ . which the move is from
| 3' What is the method of mathematics teaching mrch = encouraged ?
| unknown to known and in which the tendency !:o scathﬂd |
" (A)  Synthetic method (B)  Analytic memethﬂ 4 \
(C) Project method - (D) . Labor atofye}ﬂ_{- 5 g = Y @l
fore foreqor s - fafy & Fored e | A &} S eI &
1 wafa &l Aeqre fHerd € 2 | 3 :
(A) Gy fary &(B) T fe _
() uRET faty SR T et |
104. The community objective of defining mathematical terms 18
(A) - " Cognitive .48 (B) Emﬂu;ﬂnal
= (C) Practical (D). . Fazctional
rforeer el R F e e 397
v (A) GIIHIHS (B} - HIdh
NC) AERRE (D)
05, & * is necessary to find out mathematical errors in children.
" (A) Remedial test | (B)  Diagnostic test
(C) 'Oraltest - (D) Nature test
T 7 Ty e & g e % fg HreeEsh @
(A) STERIHSE TXIET0T JB) TR TRieuT
(C) Hifgs e . (D) ~ TEHE W

106. Denominator of a rational number cx}ceeds its numerator by 8. If 17 is added to
the numerator and 1 is subtracted - from denominator we get the rational

number 3 then the rational number 18

2 }
| >y 2]
) 53 | B 13
7
(C) ~1-7§ D) 13

sson2 MM
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ok URET AT X IGF I W 8 Aiyw ¥ gf sty
g2 W GRET g S = '
1. H&AT S W gl 8, 79 uit wer &

M

17 S O 3R &7 o o

SN 5T T ® 2
13
ey D) L
7. The small =
10 allest :
7 14 ad 31 iSSQuare number which is divided by each of the numbers
A) 98 | 53
EC) 394 (B) 1764
: (D) . 2056 ~
Bl 9 Bt o7t w i | |
T S W 7, 14 3R 21 F ¥ vEE @ R
A) 984 = W zlljﬁf A% W it 2 §, o &
C) + -394 | - ‘ |
( (D) 2056 |
108. The value of L& S ‘ .'
| . 3‘!( 7] + %-0_9_9_343 1S
0-000215]
A)  1-0 at
: B o0
(€) 01 ED)) ,)_gl
| ]' ; 3 : ru‘ s “
:”J[ - - _,((0-000343) T TR G
0-000216 a d d a
(Al | (Bl Rgl Lt
e o0 ' (D) 20

109. Shankar took a loan of Rs. 25,000 for purchasing a méchine. How ﬁﬁch amount

will he repay after 1 year 6 months at ann
| ual rat 120 : =
accumulated annually ? o s qf Afdonhen .mterest =

(A) 'Rs.25.850 _ (B) Rs. 27,680

(C) " Rs. 30000 - AP)  Rs. 29,680 |

¥ AR @HIEH & feld 25,000 o FT 1 &1 5% 1 99 6 HE 1] 129 16 1
4 e v Sledin Sefeh <A1t d1ftich FAITT 8l ¢ 2 |

A) 2585080, (B) 27,680 %o

(C) 30.000 To - (D) . 29,680 To

110. Rajan purchased two ceiling fans at the rate Rs. 2,500 each. Out of which one
Wi S o, profit and other was sold at 8% loss. How much profit or
fan was sold at 15% p e Wwholé trrsattion & . T

(B) 7 % profit
(D) 15 % loss ; 2

loss percentage is obtained in t
(A) - 3:5% 1053
(C) 3-5 % profit

e | -
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“fR | s

Wﬁwﬁt&z,soomqﬁw@ﬁmmﬂa.wﬁ@@ 3
E;Hiaﬁ'sﬂxmﬁ#ém|wﬁ%ﬁmﬁmmmgﬁﬁ .

dg & 15% T 3y

(A) 35 % &I B) 7 %4
| ,/(‘CY 3:5 % ™ (D)1:5. % o ¢re deep 18 dug in g
‘A tank of 30 metre long, 20 metrc wide and 1520 gllztre. The earth sand sq
rectangular field of length 588 metre and breadth feld. The height of the ficlg
dug out is spread evenly on the remaining part of $hs
' raiscd by it 1s |
(A) 25 metre (B); . 29 |
A D 25 cm : 2

sas'ﬁa.élﬁmsoﬁm%ﬁ’%wméﬂﬁ | T @9
alzﬁuﬂmmmm%lwwwﬂwﬁfagﬁ
8 1 g g PN €T

iﬁ-ﬁmﬁwwwﬁmﬁmﬁﬂ%lﬂ@ﬁ |
_ | i i P "
(A) 25 HIT ofB) @:ﬁ = _
5 .
©) 259K A me30 . How many cubes of side

nsions of a cuboid are 60 cm X 54 c

112. Dime | ‘
6 cm can be placed in the cuboid ?
(A) 360 EIB)]) 3320
{C) 430 u iR - :

Qﬁﬁmﬁﬁmﬁﬁoﬁxm ESUM%!WIWQ;W({?

e et i dUda

" = St | (A) 360 (B] 2700
AC) 450 (D) 300 |
113. For the following frequency table, the number of persons whose wmghts are less
than 60 kg is : ; £ :
[ Weight (kg) J 4045 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70
k. 1 . -
rNumbcr of 4 5 10 - | 6 | Vg
l persons
(A) 26 | (B): 21" |
ﬁ mﬁgwmwﬁ%?am@gm@mqw%wmaﬁm% |
i — e L
! | W(ﬁm) 4(1"45. 45-50 50-55 595-60 60-65 | 65-70
afed Agem + | 5 .
’ 26 B -
) 1514 (B) 21 |
(C) 29
e - 32

T —

Scanned by TabScannér



oA

STL-2 | 49 M
114.

Follow; . ; MENTETE | |

3 m]lli“mg pic chart represents expenses on different items in construction of a

ikt 'l total expenses in construction of the room are Rs. 2,00,000, then how
"1 Money was expended on labour ?

Others 108°

s

(A) 10,000 % - - . SGG‘HQ
0 %o e ‘ '
( | 50’00 ‘ﬁ*x
| /(,B‘]’ 0 %o . 3’;_______ X4
(C) 60,000 %o (D) ©"40,000.F0 - = =T 3‘6‘/‘#/
115. A bag contains 15 red balls and some green balls. If

the probability of drawing a

grcen ball is %, then the number of green balls is

(A) S | B) 4
3 : D) 2

U de A 15%1%34??%@%%!%@}&%%@@#:%%;
qa & el I G ' |

(A) .5 (B)) ; l-':..]F ¥ :G o
(Q) Gﬁ/ ek,

_ l } pro0. @
- sssez RN T
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——t A e ¢
A A
MR
(B) sty A
T afet ;
15
' gRM tion in Hy<™
(D) | reproduc
{ asexud jon
1. o commer a2t T S
Sporuila u
. (lg Multiple fission (D) %_
e 8 e T I :
@) a1 |
N e -
o e Frave o P - e ,
(C)

Py T Sul %(
STee ST, A 0 A HI™
- & 3 it di al of biomed
)46 Which of the following techalddalost suitable for the dispos
: i | .
waste ? |
(A) Land fill - (B) Inc;meratlon :
(C) Recycling (D) Disposal 1n water
e § @ FE-A A fﬁc«l FafeheeiTa FoRTE & HERY &q
ST ? S
& YEWEe . <@ FEEU
C) T o) T fwe
/L«TE). Which of the following is known as 'Birdman of India’ ?
W oy Al 5 ons () A.P.J. Abdul Kalam

(C) Homi Jehangir Bhabha | & HERE < V. Raman
fefEd § 4 fege Wéﬁéﬁﬂ %mﬁmm% ?

(A)  FAM Al | ‘(B) qn’ﬁﬁ:ﬂqﬂﬁ;ﬂ“
(C) & SENTR T is) A=A T

3982 | [NINLIENNN ' 666
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]

7 1 their village in 8 d.
If village nceds to be cleaned in 5 days, then how : i ,ddyﬂ'
I'["i;llll'[*d P _ many volunteers will be
(A) 20 (B) 32 °
| C) 15 (D). " 0 :
| TS YW Q‘Hihl-"“q éh Oedl 20 W aq-q—:{ Tna. 31:[ 8 ﬁ"':[ o
Bt ey " H S R gwa
i 5 & 7 BB, T e v | 3
| R RO P p— gntt
A 20
W (B) 32
— ' '-'..':.._.—--r
) 15

D) 30
132. Partha moves from Jhyns |
| avceragce SpCCd of 60 kmn-]hunu to J

takes 4-—;— hours ?
(A) 80 km/hour

(C) 90 km/hour

_ (C) 90 Terd/guey D) 60 T /gue

$33. ._Threc years back, the populatic:n of a village was 50000
| year _thc ratc of growth of population was 5%.
cpidemic, the population decreased by 10% and in

growth rate was noticed to be by 4%. The present

(A) 50000 T - (B) 53000

After that, in the first
In the second vear, due to

the third year, the population
population of the village is

(C). " 491405 .l Cop (DY 51140

@'Wﬁmmﬂﬁsmooﬁlmela&ﬁmﬁ
5% @ agiadl 5| gt A A WEWRI & R SEREH 10% W T w6

" B =
B

TN FY G 4% U T | T ) A R E
| -(A) 5‘_0'060"'” (B) 53000
o (D]+ .5“40
TR I O

S L]
Ll
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134

. 2 18
I‘n g]\rtn hgllrﬂ ”‘IJ | | q tl1cn lhc VHIUC ﬂfx 1

o

p 9% 95 r

P I 98T %
&
% ‘-2’\ A s -—;f
4. SR ——T T 2 T
/e 30 X

¥ o s y X . Ny
\({(55" e | a . gagE‘rﬂ | 32’
(C)] 65° (D 105! : ‘

135. It is given that AABC = AFDE and AB=5cm, /B = 40° and £A = 80". Whlch ol
of the following is true ? -

\‘5::

(AY DF=5cm: ,F=60°  (B) DF=5cm;£E=60°
(C) DE=5cm; ZE=60° (D) DE=S5 cm; /D= 40°
: ﬁm%%msc~ AFDE del AB = 5 @ﬂ"r /B = 40° 9 ZA = 80°. FretetEa 1 3
-HTGE"‘I% ?

A) DF=5 a; £F = 60° _/(—B)/ DF=5 §Hl; ZE = 60° 5‘% ’A
AC) DE=58H; LE = 60° (D) DE=5 @tﬁ- £D = 40°
P i _

6. The main cumin producmg districts of Ra_]asthan are
| S" :

(A) Bar.:m Chittorgarh, Jha]awar
(B) Alwar, Jaipur, Nagaur
Scanned by TapScanner

(C)

Sr1 Ganganagar, Hanumangarh, Bikaner
(D) Jalore, Jodhpur, Barmer | :
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o o ST % S IR fiyet &
i g

T Tare 2
A T, T, ALSIC K

T T

AR, R, gre. 5
//which ot the following ..\
y A) Mitochondrig OTganelles has forming face-and maturation face ?

C) Lysosome B) ' Golgi body

erAfer@d H ¥ gy i (D)  Plastid

i AB)  TiiesTt g AEL ]

[(_,] EESIESIRS M__
]th number of molar teetp { D) o ot O @

(A) two Present in upper jaw of an adult man is oAt KEin |

C) six (B) Ifc:\ur | 912 3 )(‘@

2 z Eqihﬂmﬁmﬁﬂm gidl &

% oiB) TR

e = - D) ¥ e e =
139. Out of the following which comes o 1 ——— ——

A) - Scientific attitude X ‘;;f X E;‘:i‘“; OfseicnceaT

(C) Scientific laws . D) A __ 1-1 . of hypothesis

rfefea &/ $ o roataaer

TTATE 91, SRR % 3R, - S S 5

A) SR gt R

(C) o | D) W T
140. In science teaching, which type of learning shnuld be | &

. ; | planned after '

the learning difficulties of the students ? diagnosting

(A)  Tecam teaching (B)  Remedial teaching

[C) Micro-[caching _ . [D) Diagnostic: tr:aching

et Y siferm sforgdl o FoM & ST I o o, e wor & R
ﬁmwﬁmﬁ’[ﬂ'lﬁﬁﬁ?

A) et eregor 5 AT ;;T '
C) H&H TeTeqor My 7, IS : .
141 Chemical formula of aluminium Eulphatc;ﬁd (S04);
| C) AL, (SO4)3 P
| i | |
_{ 666 - P.T.O.

i LT

Scanned by TapScanner




D——

M
o0
@‘Q'HIMH qhe &y ESIPIEES E! &
(A)  ALSO, (B)  Aly(SO4)2
© Als0,), D) AHEO o
142. The metal having lowest melting point among s fﬂllomng
(A)  gallium B) bismuth
(C) antimony (D)  arsenic
BISIGIEC 9 ¥ G F1 Toiies arer Y €
A ey ) foEA
(C) Gt (D) ST -
i jum 18
143. Colour of phenolphthalein indicator in alkalin€ mece
(A) white : (BJ. - pink
©) yellow (D). Dgteees

Hﬁﬁwqﬁqﬁﬁﬁ@jqﬂﬂvqﬂﬁﬁﬂ%
(A)  TH S @y S ye

e (D) FeTR B i .
| _ | - thylenc col a
1445 Which of following synthetic fibres~is a polymer of €ty glycol anjiy
terephthalic acid ?

(A) Arlon | ~ (B)  Dacron
(C) Nylon
fFefefeg dvcing &0 5 4§ chiH-dl
SETh & ?
(A) 3R | B SHA
(C) AR et i (D) M
145. Onc of the teaching maxims of incluctive method is
(A) from general to specific (B) from part to whole
(C) from rule to example (D)  from known to unknown

@y T A fafr A e (g T R 3R
(C) fore 9 33TX0T i 3R P) T T FT AR

146. The main drawback of objective testing is
(A) lack of comprechensiveness (B)  lack of credibility
(C) lack of expression s e TR B

wosz NI [E88]

e e
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» < (D) A H A
JC) ﬂﬁﬁ:fcs are accuratc in the c)xam:?;::lc;tt; ? :
wmch qua (B)
% A D‘Smmn::“m (D) Rellablhty
(©) Objeccuvit, ‘ ot N
R 5 G e g
: (D) ferag-gan ** e’

of exercise dnll work in mathemaiilca t

= |

- main aim
o understand ncw formula

to enhance computation skill

to clear the ncw concept Y
o1 to utilisc the knowledge in new cucumstanﬁm

2 e o mmﬂﬁﬁﬁaﬁ‘ﬂ%
'aﬁqaﬁmm

Wi
l:".'.'-l-- -

S
:.'-, o —*n--} l it ‘T' .
d_."_, *

‘_i:

S ethod is suitalTD
__ heﬂabhshmg the formula e
i' lnhre the problem through fm:m k. F';' = .'"ff.-" |
10 scarch &mluﬂon of prﬁblcm oty

{
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[E 58

N - IV(b) / @8 - - 1V(b)

SECTIO
5 SOCIAL STUDIES / HWW alt s who have selected thig
u:l;‘:: tlrv 60 questions in all in this section. The candidate s ot
*Cl must answer all the questions, ' ~
T gl U F
TR I F61 60 wvd ¥ forg spafirl 3 o fawa & 99T -%ﬁ'
e &)
91.  When did Chauri-Chaura incident take place ? |
(A}  January, 1922 (B) February, 1922
(C) November, 1922 (D) April, 1922
aR-9RT udﬂwmgé? 5 BT
(A)  SHERT, 1922 (B) eI, 1922
(C) =R, 1929 (D) 3V, 1922
92.
_ Which ruler of Alwar appointed Pandit I-Iarmarayan Sharma as hlS ddVlSOI' ?
(A) .~ Udai Singh | (B)  Jai Singh | o
(€)  Ram Singh | - (D) Man Singh
TS BRARTAY vt @Y srereR & F YR o 39T qeeHR g fohar 2
(A) mﬁ?a % R LBJ GRITIE
C) e 4 ' AT
93.  Who sai y A '
. ho said lﬂflﬂt fﬂ!fgflﬂl‘}, 1S thaﬂda ent jof=the divinity which is inherent in
uman beings, religion is nei ooks nor in religious principles’ ?
A ajz ,
(A)  Raja Rammohan Roy Swami Dayanand Saraswati
(C) © Swami Vivekananda (D) Dadudayal *

pf : T THE g - (B) wWH [ET @
:@_'ﬁ'ﬁm- . (D) TEEEe
94.  Who is called the first poet of the deprived class of India ?
(A)  Dadu > (B) . ' Jayanak 2
(C) Ramdas - (D) Chokh
| amela
YRd @& dfgd 1 T gell $F-=r o FEISTAE 2
(A) 81 | (B) M

95.

ssos2 NN

qE 1hE er o f ¢
mqmﬁ?ﬁw ;{?ﬂﬁ’m%%ﬂmﬁ%ﬁéﬂamﬁﬁm% un:ra’rgﬁaim

) THEE = (D) R

Which ruler wrote a letter opposing Aurangzeb’s imposition of Jiziya tax ?
(A)  Raj Singh (B)  Jaswant Singh
(C) Man Singh (D) Durgadas Rathore

|
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STL-2 i ™ |
AT §RT Sifsqanr &g @@ A W Ry wmHeh 1 udt. feraat fagry fear -
©) TR (D) FETY 313

96. What is the proposed National Assessment Centre named in the National

Education |Ullt\, 2020 ?

(A) DIKSHA | (B) NIKHAR
(C) DISHA

(D) PARAKH | :
A R <fifey, 2020 e TG SHEREH D% H FA AL [T T E 2
(A) 1) (B) H@an
(C) %?rr : (D) qug

7. Wh . . . .
. .Cn Was the ‘CALP programme initiated in upper primary schools in
Rajasthan ?

(A)  2007-08 (B) 2010-11
(C) 2015-16 (D) 2004-05
| S
| Wﬁwmﬁmﬁm(mmwwmmﬁw’
| (A)  2007-08 (B) 2010-11
(©) 2015-16 (D) 2004-05

__PB- When was the objective resolution’ acce pted by the Cmﬁqtltucnt Assembly as
g Presented by Pt. Jawaharlal Nehru | | =
g (A) December 9, 1946 (B) Iiecgmber 13. 1946 |
£ (C) Janudry 22,1947 (Cé 26,1947
E’m\njiswm TEE FRT YAl ‘SRed wera’ 1 WU q9 §RT Fd WHR fFHam
(A) 9 IH=R, 1946 (B) 13.‘!%1?13?, 1946
(C) 22 HeRI, 1947 '_ (D) 26 SRl 1947
The ‘Right to Education’ was made the part of which Fundamental Right by 86th
Constitution Amendment Act ? 4 :
" (A) Right to Freedom (B)  Right to Equality
| (C) Cultural and Educational Rights (D) Right against Exploitation

86€r1:n%ru1=favn¥r~{awﬁ"aﬂ§m ottt & atfyepR’ ﬁmﬁmaﬁwaﬂm

g e ?

(A) @l & SRR (B) HHFCT SR
. (©) foreqT Uel Ge@hia 1 ATHR (D) 9T & faeg sifusr
iDO- When was the ‘Protection of Children from Sexual Offences Act’ enacted in
f‘ India ? | - |
4 (A) In 2010 , (B) In2012
. (@ In2014 _ s Skt

' P.T.O.

swos2 [N
| - —— — S ————
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Lt g AT AT 2
IR W ‘St syqrmat & arerent @1 GearoT BT 4
(A) 2010 (B),. A
(C) 2014 | (D) 2016‘ _-ning by doing’, is
01, The Principle of curriculum which emphasizes OF le?rﬂf broadness
(A) Principle of motivation (B) Pﬂ:nmp; of utility
(C) Principle of activity (D) Pﬂn;;"[ g de %
T o e 3 s et WL o e
(A) AR 7 fagr ! sqﬂ’lﬁﬂ caMreEARyl
(C) Tshar =1 fagr A - |
102. rn hemisphere 15

The direction of trade winds in norther t to North East

th Wes
(A) North East to South West (B) Sou

(C) South East to North West

dﬂ{"{*lwi@ﬁWM$mﬁmﬁ%- | S

(C) Sf&ur gef § IR Ul (D) S | &
103. The maximum distance between the sun_and the ea_rth is calle
(A)  Perihclion | (B) Perigee
(€)  Aphclion (D) Apogee
g4 U ‘PHT h Tt WIW&Udvmw G
(A) 3I9ET 39y
(C)  HUHER : (D) A9y

104. In a food chain a ‘rat’ comes under the category of

(A) primary consumer (B) secondary consumer

(C) tertiary cnnsumcr |

@m’ﬂ@ﬂf{g{w Frg SoT 7 ST €, 98 § 5
(A)  TrfEe 3THITHT (B) Tadger IUHRAI

(C) SQIREE 3UHIHT | (D) IUEH
105 Which of the following statements is correct ?

(D) producer

(A) The direction of the wind in a cyclone in the northern hemispher
clockwise |
(B) The direction ‘of the wmd in a cyclone in the southcm hemispher

anhclockw:sc

(C) The direction of winds in cyclones on the earth’s surface is both clock”

and anticlockwise

O ; i e
(D) The direction of winds in cyclones on the earth’s surfacc 1
anticlockwise |

wosz [WIINMN - [eee)
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The qucstian-:fmswer technique can be
~as it ensures
~ students’ ablllty to respond better 1n
students come to claag._ weg.p
active partlmp )

J"'.‘_

a more discipl
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1ted a4

r40. T headquarters of Rajasthan Stalc Coope€ rative Bank 18 10Cé

(A) Jodhpur ‘ (B) Jaipur

(C)  Ajymer (D) Kota

USRI T WEahTd S o g &

(A) SR (B T3

(C) 3TN (D) HEl

111, City of hundred islands’ 18 located 1n which di
(B) Udaipur

(C) . Pratapgarh (D) B%ar; swara

 zrgait @1 et TR & 6 fet o fead

(A)  FRE B) 3L

o | 5 | n included
112. Which of the following tribes of Rajasthan has bee€

?
primitive tribal group by Government of India i
(A)  Bhil B Bl

(A] Dungdrpur

' ?
strict of Rajasthan -

STL-2

in the hist of

[C) . Garasia

I i ﬁﬁﬁﬁaﬁ:{ﬁrmﬂun sl R TR
'ﬁquamwm
@) aamﬂ

Ly addDas

113. The largest'sweet water Iake in

(A) Jaisamand Raj Sdmand |
(C) Kayalana Se SR (D] ~ Silised

T T S e wed o el € |

) STAHH ey {MHH*Q
(C) FHEAT , D) faeide

114. Rajasthan is the largest producer state of which of the fﬂllowmg crops in India ?

() . ‘Maize (B) Groundnut
(C) Mustard (D) ' Cotton

ST qRd | 9 ° @ HH-9] B F] ua"rﬁﬁwwm%’ ?_

AL A (B) HIHal

(C) [l | (D) <h4ld
115. Which is the best means of explammg the shape of thc carth 1 a classroom ?
(,q) Globe | (B) Map
(C) Diagram (D) Chart |
AT FeT H gt i 31[37!(‘[  HHAT FHT IS T F91 € 2
(A) T . (B) WA |
() @ L S

G [
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(13)
(D)
o TouTer §RT fehaa weet et weArEae e s ¢
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STL-2
@ 64
VTR SIS ) we vy oy o el & 2 G
(A) TR B) SN
SRR D) T,
122, In Which area did the Chawand painting style develop ?
A)  Mewar (B) Haroti |
C)  Marwar (D) ghekhawall
AL FAHST Weht whr foreprer farer e 3 g2 2
@ Vg B) TS
(C) WRARE D) Y@EwE! !
123. Smt. Kishori Devi was associated with which peasant gy
(A) Barar (B) Sikar
(C)  Bijolia (D) Bikaner
St fereitt Yeit o o aie @ WG W@ 7
A) | B)  HIHT
©) fosiferar (D) FER
124. In which part of the body is the ornament ‘Bajatti’ worn ?
(A)  Nose (B) ~ Tecth
(C) Ear (D) LI Neck
‘LT AHS WU IXK % % YUl f‘WT SIell & 2
(A)  -Tsh |
() HH | (D) Tl -
125. Edward Thorndike ( 1898 ) is famous for which principle in Educationa
Psychology ? | Roh |
(A) Memory theory (B) Forgetting theory
(C) Learning theory u (D) Adjusting theory
USae YHer® (1898 ) i e wAfaw= # fhy fagra & faw siHr St & 2
(A) I &1 GG B) fomfa & fagra |
(). drE= =1 fagr (D) |HENHA %1 g
126. Which of the following musical instruments is like a flute ?
(A)  Alagoja | (B) Bhapang
(C) Ravanhattha (D) Tandoora
frfeifiad § | SH-91 arg 499 Sig3) H1 @E eidr € 2
(A) SIS - (B) = WU
(C) TIUTge™T (D) g

3sos2 [N '
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of the following pairs is correctly matched ?
Town

Mathura

Ujjain
Sotthavati
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130. Consider the following statements about Ashoka’s inscriptions

1. Mdst of the inscriptions arc in Prakrit language
2. Most of the inscriptions are in the Brahmi script
Which of the statements given above is / are truc i
(A)  Only 1 (B) Only 2

(C) Both 1 and?2 (D) None of these

3 % aifvicial & at 3 Freferfan el 0 AR P S
1. Sfueiyr sifierE wihd W91 H €
2. iy sifvera sl faft 7 @
ITE FeA! § ¥ FH-A1/Q B G /€ ?

(A) Hae 1 . (B) I 2
©) 13K 2 D) T A HE A

131. Which states army did Doongji and Jawaharji fight against ?

(A) Bikaner and Jodhpur (B) Bharatpur and Jodhpur

(C) Bharatpuf and Bikaner

qrﬁﬁaammt-ﬁfmw 2l wﬁﬂT%fﬂWWﬁ?W 2

(D) Udaipur and Banswara

- SR STHR TEACH RS (e RuILE
RAR T HR oSG T AT
ddé) sumed the pseudo name ‘Amard

F 132Wh0 of the following rcval lonaries ass
Vairagi’ to avoid arrest ? S L e
(A) Arjunlal Sethi (B) Pratap Singh Barhath
(C) Kesari Singh Barhath (D) Jorawar Singh Barhath

ﬁmﬁﬁfmamlmﬁﬁnmﬁaﬂ#%fm Wm‘éwﬁ &1 DT 9

| femar 7 | |
(A) HSHATA "al (B) WANTgE IRES
() Hal g 9Es - D) SIRTER (98 9RE3

133. Which revolutionary of Rajasthan was imprisoned in Tihar Jail ?
(B) Gopal Singh Kharwa

(C) Kesari Singh Barhath (D) Pratap Singh Barhath
TS % fg sifaer @ faers Stel | @ T At 2

(A) Arjunlal Sethi

A) A al (B) et fHE e
&adl [9g dRE3 | (D) WA HE IRES

3s982 [N [e66]
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3m°n3 the follomng were in the Chandaval Squad
c Battl& of Haldighati ? ' .

PurOhlt Gopmath 2.  Rana Punja
Jmmal Mehta 4, Hakim Khan

of Maharana Pratap in

Krishnadas Chundawat

"..'l'-"-ﬁ-
r a, "-""r-nl"h =
. _".,l-l..ll-._'-

._"_ ...J'J.-:"'_-

.-.- F"
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138. - Cons;
onsider {he fuliuwing stateme
L.

68

nts about the
Grihastha Ashram was the feeder of &

S The Village officer was called (,ram.:lﬂl
& 3. The merchant class was called vish’ :
ich of the statements given above is / ar¢ ¢
(A) Only 1 (B) g
[(-') | (D) } s 3

%W%aﬁﬁﬁmﬁrﬁaﬁmw TR @ AT :
e Wwwmmﬁwwaﬂwm
2. UM % iy & Ui’ el S &l
3.  HNURY = ol ‘o1’ hel Sl o

U T ¥ Q HH-ar/d GEl 8/E ?

(A) e 1 | , (B): k2

(C) “E3 ) S [ R
139, W:'IEI‘E was the branch of Ramsnehi sec[t ;stabhshed by Sﬂﬂt Dariyav)l %

(A)  Shahpura (B) Sinhthal

(C) Rain (D) Khedapa

N SRIES gRT THER] GPIEE T ITET shel Sad i ’Té ?

(A) SR }3] gy

N\
IEEIRL

ie
140. Cnnmder the following atatern-;&ﬁ adﬁh aveet Swami :

He was born in Lumbiri1

2. His childhood name was Vardhamana
3. His mother’s name was Mahamaya
4. He was the first Teerthankara of J ainism

'~ Which of the statements given above is / are true ?
(A) Only 2 (B) =25 3 -
€ 1,2 D) 1,4
Mgk @Hl & 9R H HHfeiEad FUEi ) OeR S

1. 3R 59 SfieHl | g3

2. 3% F9UYA H A9 TSHH AT | o
3. 3! AT ST AT HeTHET &1 |

4. o 99 Y9 & JUH el o

394k YT H F HIH-91/d Fel /2 ?

(A) el 2 B) 2, 3.

c 1,2 iy D) 1,4

38982 | [ IIHINNIN 666 |
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41. The ‘National Voter Day’ is celebrated in India on

(A) 25th January (B) 25th March
(C) ?Sth September (D) 25th November
HRA H T weere fea! ST ST 8 |
(A) 25 SHE (B) 25HH
(C) 25 MadwEy (D) 25 9*ax
#2. ‘Agriculture and Irrigation’ are included in the list of the Constitution of India,
which is
(A)  the Union list (B) the State list
(C)  the Concurrent Jist (D) residual subjects
M S ) forg et 3 PiY e e’ =1 e fen e, 9 ¢
AN B) T A
(C) \HEdr g=h (D) Fafme fama
t3. Under which Article of the Constitution of Indla the Supreme Court has been
given place as the ‘Court of Records’ ?
(A) 129 (B) 130"
(©) 137 (D) 143 |

“ﬁma‘ﬁmﬂﬂ?@?%a—ﬁﬁuﬁﬁmﬁ‘aﬁﬁaw“mmm

T g 2

L
) 137 : (D |
4. Under which Article of the Constitution of aﬂ dv.a tive
| power of the
vested in the President ? union is

(A) 53 (B) 54

(A) O3 (B) 54

ey 55 (D) 56

2 Chapter 2A of Rajasthan Panchayat Raj Act, 1994 provides the fOManon of
(A) Gram Panchayat | (B) Panchayat Samiti

- (C) Zila Parishad (D) Gram Sabha
TR GarEd TS S, 1994%W2$ﬁﬁm&em;ﬂmﬁt N
(A) T UIEd : (B) U=Ed Hinfg s

. Whlch of the followmg decades registered negative population growth in [ndia ]
(A) 1901 - 1911 (B) 1911 -192]
© 1921 - 1931 P 1971 i

ST PTO
 —— R —
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M H Qg qve o wg § e ﬂﬂ{iwiﬁﬁﬁﬁﬂg {

(A) 1901 - 1911 B) 1911 -1921
(C) 1921 - 193] (D) 1971 - 30 .
147. Which of the following is the oldest iron and steel company in Indis e
(A) TISCO (B) 1SCO
(C) VISL (D) SAIL
Bt o @ T olte-3ee ST aRa § gt WA © 2
(A) TISCO | (B) IISCO
(C) VISL o (D) N ST
148. The correct order of location of given physmgraphm features from north
south is
(.A] Tarai — Bhabar — Khadar — Delta
(B) Tarai — Bhabar — Delta — Khadar
(C) Bhabar — Khadar — Delta — Tarai
(D) Bhabar — Tarai — Khadar Delta
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149. Which state is the largest producer of Gypsum in India ? &
(A) Rajasthan v SRR B S G S5
(C) Jharkhand | | (D) Madhya Pradesh _"
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150. Zanskar river is used for irrigation and power generation in which region ? “
(A) Arunachal Pradesh | (B) Sikkim |
(C) Ladakh (D) Garhwal-Kumaon
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